Math 11 Worksheet - Chapter 8
Name_______________________________
0.
Let t have a t-distribution with 8 degrees of freedom.

(a)
Find 
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(b)
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(c)
Find 
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(d)
Find 
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(e)
Find a number 
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(f)
Find a number 
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1.
Suppose that the lives of a certain brand of batteries have a standard deviation of 16.3 hours. A random sample of 42 such batteries yields an average life of 930.2 hours.  

(a)
Construct a 97% c.i. (confidence interval) for the overall average life of this brand of batteries.

(b)
Find the margin of error associated with the above c.i. and interpret the answer in plain language.

(c)
How large a sample needs to be selected in order for the margin of error to be 4 hours?

2.
A random sample of 32 students from SCC yields an average GPA of 2.46 points with sample s.d. 0.59 points. Construct a 90% c.i. for the overall average GPA of all SCC students.
3.
A random sample of 64 UC Davis students shows that on average they work 9.35 hrs weekly with s.d. 2.79 hrs.
(a)
Construct a 98% c.i. for the overall ave. weekly work hr of UC Davis students.
(b)
If 800 such samples are selected, how many of them are expected to provide confidence intervals that contain the unknown overall average mentioned in (a)?
4.
A random sample of 200 households in Northern California yields an average size of 3.21 persons with a s.d. 0.45 person.  

(a)
Construct a 99% confidence interval for the overall average size of all Northern California households.

(b)
Find the margin of error associated with the above c.i. and interpret the answer in plain language.
(c)
How large a sample needs to be selected in order for the above margin of error to be 0.04 person?

5.
A random sample of 36 households in Northern California yields an average size of 3.06 persons with s.d. 0.50 persons.  

(a)
Construct a 95% c.i. for the overall average size of N. California households.

(b)
Find the margin of error associated with the above c.i. and interpret the answer in plain language.
6.
Suppose that the ages of all SCC students are normally distributed. A random sample of 12 SCC students yields the following ages:
26, 22, 18, 19, 28, 18, 20, 20, 21, 34, 19, 22

Construct a 99% confidence interval for the overall average age of all SCC students.

7.
A random survey of 450 tax payers indicates that 81 of them cheated on their income-tax returns last year.
(a)
Construct a 95% c.i. for the overall proportion of tax payers who cheated on their income-tax returns last year.

(b)
Find the margin of error associated with the above c.i. and interpret the answer in plain language.
(c)
How large a sample needs to be selected in order for the above margin of error to be 2 percentage points?
8.
Sixteen (16) of 38 r/s SCC students take summer classes.

(a)
Construct a 94% c.i. for the overall proportion of SCC students who take summer classes.

(b)
Find the margin of error associated with the above c.i. and interpret the answer in plain language.
(c)
How large a sample needs to be selected in order for the above margin of error mentioned to be 6 percentage points?
Numerical Answers
1.
(924.7, 935.7)


(b)
5.5

(c)
79
2.
(2.28, 2.64)

3.
(a)
(8.517, 10.183)

(b)
784
4.
(a)
(3.13, 3.29)

(b)
0.08

(c)
843
5.
(a)
(2.891, 3.229)

(b)
0.169


6.
(17.939, 26.561)
7.
(a)
(0.145, 0.215)

(b)
0.035

(c)
1420
8.
(a)
(0.270, 0.572)

(b)
0.151

(c)
246
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